

# Taylor Polynomial solution of Nonlinear Mixed Volterra-Fredholm-Hammerstein Integral Equations

## Soodabeh Nazari

Department of Mathematics, Zahedan Branch, Islamic Azad University, Zahedan, Iran

## ABSTRACT

This paper presents a computational technique for the nonlinear mixed Volterra-Fredholm-Hammerstein integral equations. The method is based on the Taylor polynomials. Nonlinear integral equations are usually difficult to solve analytically. In many cases, it is required to obtain the approximate solutions. For this purpose, the presented method can be proposed. A considerable advantage of the method is that the solution is expressed as a truncated Taylor series.

Keywords: Mixed Volterra – Fredholm – Hamerstein , integral equations, Taylor -polynomials.

# 1. INTRODUCTION

There is considerable literature that discussed approximating the solution of linear and nonlinear Hammerstein integral equatins [1,2,3,5,6,7,8,9,13,14]. A Taylor expansion approach for solving integral equations has been presented by kanwal and liu [4] and then this has been extended by Sezar to Volterra integral equations [10] and to differential equations [11]. The technique is based on, first, differentiating both sides of the unknown function in the resulting equation and later, transforming to a matrix equation.

In this study, the basic of the previous works are developed and applied to the nonlinear Volterra-Fredholm-Hammerstein integral equation

$$y(x) = f(x) + \lambda_1 \int_a^x K_1(x,t) [y(t)]^p + \int_a^b K_2(x,t) [y(t)]^q dt,$$
(1)

where p is positive integer and  $q = 1, f(x), K_1(x,t)$  and  $K_2(x,t)$  are functions

Having *n* th derivatives on an interval  $a \le x, t \le b$ , and  $a, b, \lambda_1, \lambda_2$  are constants; and the solution is expressed in the form

$$y(x) = \sum_{n=0}^{N} \frac{1}{n!} y^{(n)}(c) (x-c)^{n}, \qquad a \le x, c \le b,$$
(2)

Which is a Taylor polynomial of degree N at x = c, where  $y^{(n)}(c), n = 0, 1, ..., N$  are coefficients to be determined.

## 2. The method of solution

To obtain the solution of equation (1) in the form of expression (2) we first differentiate it n times with respect to x:

$$y^{(n)}(x) = f^{(n)}(x) + \lambda_1 V^{(n)}(x) + \lambda_2 F^{(n)}(x),$$
(3)  
Where

$$V^{(n)}(x) = \frac{d^n}{dx^n} \int_a^x K_1(x,t) [y(t)]^p dt,$$
 (4)

$$F^{(n)}(x) = \int_{a}^{b} \frac{\partial^{n} K_{2}(x,t)}{\partial x^{n}} y(t) dt.$$
 (5)

We now consider eq. (4). Substituting the expression

$$Y(t) = [y(t)]^{p}$$
  
in Eq. (4), we obtain

Corresponding Author: Soodabeh Nazari (M.Sc.). Department of Mathematics, Zahedan Branch, Islamic Azad University, Zahedan, Iran. Email: Nazari.soodabeh@yahoo.com

$$V^{(n)}(x) = \frac{d^{n}}{dx^{n}} \int_{a}^{x} K_{1}(X,T)Y(t)dt.$$
For  $n = 0$ 
(6)

 $V^{(0)}(x) = V(x) = \int_{a}^{x} K_{1}(x,t)Y(t)dt.$ 

By applying successively n times the Leibnitz's rule (dealing with differentiation of integrals) to the integral V(x), we have, for  $n \ge 1$ 

$$V^{(n)}(x) = \sum_{i=0}^{n-1} \left[ h_i(x) Y(x) \right]^{(n-i-1)} + \int_a^x \frac{\partial^{(n)} K_1(x,t)}{\partial x^n} Y(t) dt,$$
(7)

where

$$h_i(x) = \frac{\partial^{(i)} K_1(x,t)}{\partial x^i} \downarrow_{t=x} .$$
(8)

Form the Leibnitz's rule (dealing with differentiation of products of functions), we evaluate  $[h_i(x)Y(x)]^{(n-i-1)}$  and substitute it in Eq. (7). Thus, Eq. (6) becomes

$$V^{(n)}(x) = \sum_{m=0}^{n-1} \sum_{i=0}^{n-m-1} {n-i-1 \choose m} h_i^{(n-m-i-1)}(x) Y^{(m)}(x) + \int_a^x \frac{\partial^{(n)} K_1(x,t)}{\partial x^n} Y(t) dt.$$
(9)

Where

$$c_m = \binom{n-i-1}{m} = \frac{(n-i-1)!}{m!(n-i-m-1)!}$$
Thus Eq. (0) becomes

Thus, Eq. (9) becomes

$$V^{(n)}(x) = \sum_{i=0}^{n-1} \sum_{m=0}^{n-i-1} c_m h_i^{(n-m-i-1)}(x) Y^{(m)}(x) + \int_a^x \frac{\partial^{(n)} K_1(x,t)}{\partial x^n} Y(t) dt.$$
  
Note that in Eq. (9)

Note that in Eq. (9)

$$\sum_{m=0}^{n-1} \sum_{i=0}^{n-m-1} (\cdots) = \sum_{i=0}^{n-1} \sum_{m=0}^{n-i-1} (\cdots).$$
First we put  $X = C$  in relation

First, we put x = c in relation (3), thereby in expressions (5) and (9), and then substitute the Taylor expansions of y(t) and Y(t) at t = c, i.e.

$$Z(t) = \sum_{m=0}^{\infty} \frac{1}{m!} y^{(m)}(c)(t-c)^m, \qquad \qquad Y(t) = \sum_{m=0}^{\infty} \frac{1}{m!} Y^{(m)}(c)(t-c)^m$$

Therefore we have:

$$y^{(n)}(c) = f^{(n)}(c) + \lambda_1 \sum_{m=0}^{n-1} \sum_{i=0}^{n-m-1} c_m h_i^{(n-i-m-1)}(c) Y^{(m)}(c)$$
  
+  $\lambda_1 \int_a^c \frac{\partial^n K_1(x,t)}{\partial x^n} \downarrow_{x=c} \left[ \sum_{m=0}^\infty \frac{1}{m!} Y^{(m)}(c) (t-c)^m \right] dt$   
+  $\lambda_2 \int_a^b \frac{\partial^n K_2(x,t)}{\partial x^n} \downarrow_{x=c} \left[ \sum_{m=0}^\infty \frac{1}{m!} Z^{(m)}(c) (t-c)^m \right] dt$ 

Or briefly

$$y^{(n)}(c) = f^{(n)}(c) + \lambda_1 \left\{ \sum_{m=0}^{n-1} H_{nm} Y^{(m)}(c) + \sum_{m=0}^{\infty} T_{nm} Y^{(m)}(c) \right\} + \lambda_2 \sum_{m=0}^{\infty} K_{nm} Z^{(m)}(c)$$
(10)

In other words,

$$y^{(n)}(c) = f^{(n)}(c) + \lambda_1 \left\{ \sum_{m=0}^{n-1} (H_{nm} + T_{nm}) Y^{(m)}(c) + \sum_{m=n}^{N} T_{nm} Y^{(m)}(c) \right\} + \lambda_2 \sum_{m=0}^{N} K_{nm} Z^{(m)}(c)$$

Where for n = 0

$$\sum_{m=0}^{n-1} (H_{nm} + T_{nm}) Y^{(m)}(c) = 0, \qquad \sum_{m=0}^{n-1} K_{nm} Z^{(m)}(c) = 0$$
  
For  $n = 1, 2, ...; \quad n = 1, 2, ...; \qquad m = 0, 1, ..., n - 1 (n > m)$ 
$$H_{nm} = \sum_{i=0}^{n-m-1} {n-i-1 \choose m} h_i^{(n-m-i-1)}(c) \qquad (11)$$
For  $n \le m$ 

 $H_{nm} = 0$ 

And for n, m = 0, 1, 2

$$T_{nm} = \frac{1}{m!} \int_{a}^{c} \frac{\partial^{n} K(x,t)}{\partial x^{n}} \downarrow_{x=c} (t-c)^{m} dt, \qquad (12)$$
$$K_{nm} = \frac{1}{m!} \int_{a}^{b} \frac{\partial K_{2}(x,t)}{\partial x^{n}} \downarrow_{x=c} (t-c)^{m} dt. \qquad (13)$$

The quantities  $Y^{(m)}(c)(m = 0, 1, 2, ...)$  in Eq. (10) can be found from the permutation relation  $Y^{(m)}(c) = \sum_{t_1+t_2+...+t_p=m} c_p y^{(m_2+t_1)}(c) . y^{(m_2+t_2)}(c) \cdots y^{(m_2+t_p)}(c)$  (14)  $Z^{(m)}(c) = \sum_{t_1+t_2+...+t_p=m} c_q y^{(m_3+t_1)}(c) . y^{(m_3+t_2)}(c) \cdots y^{(m_3+t_q)}(c)$  $c_p = \frac{m!}{t_1!t_2!\cdots t_p!}, \quad c_q = \frac{m!}{t_1!t_2!\cdots t_q!}$ 

If we take  $n, m = 0, 1, 2, \dots, N$ , then Eq. (10) becomes

$$y^{(0)}(c) = f^{(0)}(c) + \lambda_1 \sum_{m=0}^{N} T_{0m} Y^{(m)}(c) + \lambda_2 \sum_{m=0}^{N} K_{0m} Z^{(m)}(c),$$
  

$$n = 1, 2, \dots; m = 0, 1, \dots, N \Longrightarrow y^{(n)}(c) = f^{(n)}(c) + \lambda_1 \left\{ \sum_{m=0}^{n-1} (H_{nm} + T_{nm}) Y^{(m)}(c) + \sum_{m=n}^{N} T_{nm} Y^{(m)}(c) \right\}$$
  

$$+ \lambda_2 \sum_{m=0}^{N} K_{nm} Z^{(m)}(c)$$
(15)

Which is a algebraic system of N + 1 nonlinear equations for the N + 1 unknowns these can be solved numerically by standard methods.

The system (15) can be put in a matrix form a matrix form as

$$Y - \lambda_1 T Y^* - \lambda_2 K Z^* = F$$

where Y, F, K, T and  $Y^*, Z^*$  are matrices defined by

$$Y = \begin{bmatrix} y^{(0)}(c) \\ y^{(1)}(c) \\ y^{(2)}(c) \\ \vdots \\ y^{(N)} \end{bmatrix}, \qquad F = \begin{bmatrix} f^{(0)}(c) \\ f^{(1)}(c) \\ f^{(2)}(c) \\ \vdots \\ f^{(N)}(c) \end{bmatrix},$$
$$K = \begin{bmatrix} K_{00} \quad K_{01} \quad K_{02} \quad \cdots \quad K_{0N} \\ K_{10} \quad K_{11} \quad K_{12} \quad \cdots \quad K_{1N} \\ K_{20} \quad K_{21} \quad K_{22} \quad \cdots \quad K_{2N} \\ \vdots \quad \vdots \quad \vdots \quad \vdots \quad \vdots \\ K_{N0} \quad K_{N1} \quad K_{N2} \quad \cdots \quad K_{NN} \end{bmatrix},$$
$$T = \begin{bmatrix} T_{00} \quad T_{01} \quad T_{02} \quad \cdots \quad T_{0N} \\ (H_{10} + T_{10}) \quad T_{11} \quad T_{12} \quad \cdots \quad T_{1N} \\ (H_{20} + T_{20}) \quad (H_{21} + T_{21}) \quad T_{22} \quad \cdots \quad T_{2N} \\ \vdots \quad \vdots \quad \vdots \quad \vdots \quad \vdots \\ (H_{N0} + T_{N0}) \quad (H_{N1} + T_{N1}) \quad (H_{N2} + T_{N2}) \quad T_{NN} \end{bmatrix},$$

And

$$Y^* = \begin{bmatrix} Y^{(0)}(c) & Y^{(1)}(c) & \cdots & Y^{(N)}(c) \end{bmatrix}^T,$$
  
$$Z^* = \begin{bmatrix} Z^{(0)}(c) & Z^{(1)}(c) & \cdots & Z^{(N)}(c) \end{bmatrix}^T.$$

We can easily check the accuracy of this solution as follows. Since the truncated Taylor series or the corresponding polynomial expansion is an approximate solution of equation (1), when the solution y(x) is substituted in Eq. (1), the resulting equation must be satisfied approximately; that is, for  $x = \overline{x} \in [a, b]$ 

$$D(\overline{x}) = \left| y(\overline{x}) - f(\overline{x}) - \lambda_1 V(\overline{x}) - \lambda_2 F(\overline{x}) \right| \cong 0, \quad (17)$$
  
where

where  

$$F(\overline{x}) = \int_{a}^{b} K_{2}(\overline{x}, t) Z(t) dt, \qquad V(\overline{x}) = \int_{a}^{\overline{x}} K_{1}(\overline{x}, t) Y(t) dt$$

or

 $D(\overline{x}) \leq 10^{-k}, k \in z^+$ 

If max  $10^{-k} = 10^{-k_r}$  ( $k_r$  is any positive integer) is prescribed, then the truncation limit N is increased until the

difference  $D(\bar{x})$  at each of the points becomes smaller than the prescribed  $10^{-k_r}$  [12].

## 3. Illustrations

The method of this study is useful in finding the solutions of nonlinear Vorterra-Frerholm-Hammerstein integral equations in terms of Taylor polynomials. We illustrate it by the following examples.

#### 4. Numerical examples

The method of this study is useful in finding the solutions of nonlinear Volterra- Fredholm- Hammerstein integral equations in terms of Taylor polynomials. We illustrate it by the following examples.

Example 1. Let us first consider the nonlinear Volterra-Fredholm-Hammerstein integral equation

$$y(x) = -\frac{1}{30}x^{6} + \frac{1}{3}x^{4} - x^{2} + \frac{5}{3}x - \frac{5}{4} + \int_{0}^{x} (x-t)[y(t)]^{2} dt + \int_{0}^{1} (x+t)y(t) dt, \quad 0 \le x, t \le 1$$

And approximate the solution y(x) by the Taylor polynomial

$$y(x) = \sum_{n=0}^{5} \frac{1}{n!} y^{(n)}(0) x^{n}$$

So that 
$$N = 5$$
,  $a = 0, b = 1, c = 0, \lambda_1 = 1, \lambda_2 = 1$ ,  
 $f(x) = -\frac{1}{30}x^6 + \frac{1}{3}x^4 - x^2 + \frac{5}{3}x - \frac{5}{4}$ ,  $K_1(x, t) = x - t$ ,  $K_2(x, t) = x + t$ .

First, let us find the coefficients  $H_{nm}$  from (8) and (11), the coefficients  $T_{nm}$  from (12), and the coefficients  $k_{nm}$  (n, m = 0, 1, ..., 5) from (13), and then we get the derivation values of the function f(x) at x = 0 as  $f^{(0)}(0) = -\frac{5}{4}$ ,  $f^{(1)}(0) = -\frac{5}{3}$ ,  $f^{(2)}(0) = -2$ ,  $f^{(3)}(0) = 0$ ,  $f^{(4)}(0) = 8$ ,  $f^{(5)}(0) = 0$ .

Then, for N = 5, the matrix equation (17)

From the obtained equation system, the coefficients are found as  $y^{(0)}(0) = -2$ ,  $y^{(1)}(0) = 0$ ,  $y^{(2)}(0) = 2$ ,  $y^{(3)}(0) = 0$ ,  $y^{(4)}(0) = 0$ ,  $y^{(5)}(0) = 0$ . Substituting these coefficients in (2) we have the solution  $y(x) = x^2 - 2$ . **Example 2.** Let us now study the integral equation

$$y(x) = -\frac{15}{56}x^8 + \frac{13}{14}x^7 - \frac{11}{10}x^6 + \frac{9}{20}x^5 + x^2 - x, \qquad K_1(x,t) = x+t.$$
(18)

And approximate the solution y(x) by a Taylor polynomial of fifth degree, so that  $c = 0, N = 5, a = 0, \lambda_1 = 1$ , First, we find the coefficients  $H_{nm}$  from (8) and (11) as

$$H_{10} = 0$$

$$H_{20} = 3 \qquad H_{21} = 0$$

$$H_{30} = 0 \qquad H_{31} = 5 \qquad H_{32} = 0$$

$$H_{40} = 0 \qquad H_{41} = 0 \qquad H_{42} = 7 \qquad H_{43} = 0$$

$$H_{50} = 0 \qquad H_{51} = 0 \qquad H_{52} = 0 \qquad H_{53} = 9 \qquad H_{54} = 0$$
And then we obtain the derivation value of  $f(x)$  function at  $x = 0$  as

 $f^{(0)}(0) = 0, f^{(1)}(0) = -1, f^{(2)}(0) = 2, f^{(3)}(0) = 0, f^{(4)}(0) = 0, f^{(5)}(0) = 54.$ Then, these coefficients are obtained as

$$y^{(0)}(0) = 0$$
  $y^{(1)}(0) = -1$   $y^{(2)}(0) = 2$   $y^{(3)}(0) = 0$   $y^{(4)}(0) = 0$   
 $y^{(5)}(0) = 0$ 

By means of (14) system. Thus, substituting these coefficients in (2), we get the solution of equation (18) as  $y(x) = x^2 - x$ .

#### **5. CONCLUSIONS**

Nonlinear integral equations are usually to solve analytically. In many cases, it is required to obtain the approximate solutions. For this purpose, the presented method can be proposed. A considerable advantage of the method is that the solution is expressed as a truncated Taylor series and thereby a Taylor polynomial at x = c. furthermore, after calculation of the series coefficients, the solution y(x) can be easily evaluated for arbitrary values of x at low computation effort.

If the function f(x),  $K_1(x,t)$ , K(x,t) are function having *n* th derivatives on the interval  $a \le x, t \le b$ , then we can approach the solution y(x) by the Taylor polynomial

$$y(x) = \sum_{n=0}^{N} \frac{1}{n!} y^{(n)}(c) (x-c)^{n}$$

About x = c; otherwise, the method cannot be used.

## REFERENCES

- 1. Bildik, N., and M. Inc, 2007. Modified decomposition method for nonlinear Volterra–Fredholm integral equations. Chaos, Solitons Fractals;33:308–13.
- 2. Brunner, H., 1992. Implicitly linear collocation method for nonlinear Volterra equations. J Appl Num Math;9:235–47.
- 3. Han, G., 1993. Asymptotic error expansion variation of a collocation method for Volterra–Hammerstein equations. J Appl Num Math;13:357–69.
- 4. Kanwal, R.P., and K.C. Liu, 1989. A Taylor expansion approach for solving integral equations, Int. J.Math. Educ. Sci. Technol. 20 (3) 411.
- 5. Kauthen, J.P., 1989. Continuous time collocation methods for Volterra–Fredholm integral equations, Numer. Math. 56 -409.
- 6. Kumar, S., and IH. Sloan, 1987. A new collocation-type method for Hammerstein integral equations. J Math Comput;48:123–9.
- 7. Lardy, LJ., 1982. A variation of Nystroms method for Hammerstein integral equations. J Integ Equ;3:123–9.
- 8. Li, F., Y. Li, and Z. Liang, 2006. Existence of solutions to nonlinear Hammerstein integral equations and applications. J Math Anal Appl;323:209–27.
- 9. Ordokhani , Y., 2006. Solution of nonlinear Volterra–Fredholm–Hammerstein integral equations via rationalized Haar functions. Appl Math Comput;180:436-43.
- 10. Sezer, M., 1994. Taylor polynomial solution of Volterra integral equations, Int. J. Math. Educ. Sci. Technol. 25 (5) 625.
- 11. Sezer, M., 1996. A method for the approximate solution of the second-order linear differential equations in terms of Taylor polynomials, Int. J.Math. Educ. Sci. Technol. 27 (6) 821.
- 12. Yalcinbas, S., 1998. Taylor polynomial solutions of Volterra–Fredholm integral and integrodifferential equations, Ph.D. Thesis, Dokuz Eyl€ul University Graduate School of Natural and Applied Sciences.
- 13. Yalcinbas, S., 2002. Taylor polynomial solutions of nonlinear Volterra–Fredholm integral equations. Appl Math Comput 2002;127:195–206.
- 14. Yousefi, S., and M. Razzaghi, 2005. Legendre wavelets method for the nonlinear Volterra–Fredholm integral equations. Math Comput Simul;70:1–8.